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FORAIEHRE NAEILILSA=VYT Kz 1:8E &15 £4.0m X *okok
FOAANEBE NEELINLSA=VT Ktz 118E 2100 &4.0m X Fook
FORANEBHE NEELILSA=VT Kitz 158% %150  E5.0m EN ook
FOAANEBE NEELINLSA=VT Ktz 118& 2200  &5.0m X i
FORANEBHE NEELILSA=VT Kitz 158% 2250  E5.0m EN ook
FOAANEBE NEELINLSA=VT Ktz 118& #2300  &6.0m X i
FORANEBHE NEELILSA=VT Kitz 158% 2350  FK6.0m ZN ook
FOAANEBE NEELINLSA=VT Ktz 118% 2400 &6.0m X i
FORANEBHE NEELILSA=VT Kitz 158% 2450  F6.0m ZN ook
FOAANEBE NEELINLSA=VT Ktz 118E 2500 &6.0m X i
FORANEBHE NEELILSA=VT Kitz 158% 2600 £6.0m ZN ook
FOAANEBE NEELINLSA=VT Ktz 118E 2700 &6.0m X i
FORANEBHE NEELILSA=VT Kitz 158% 2800 FK6.0m EN ook
FOAANEBE NEELINLSA=VT Ktz 118& 2900 &6.0m X i
B A ILEEHKE NEELILSA=2T Kz 138% %1000 £6.0m & ko
FOAANEBE NEELINLSA=VT Ktz 118& #1100 £6.0m X i
B A IEEHKE NEELILSA=2T Kz 138% %1200 £6.0m & ko
FOAANEBE NEELINLSA=VT Ktz 118& #1350 FK6.0m X i
B BAINEEHKE NEELINLSA=2T Kz 138% %1500 £6.0m & ko
BHORANEHE NEELZILSA=T Ktz 138% %1600 £4.0m P 1,170, 000
BHORANEHE NEELZILSA=T Ktz 138% %1600 &£5.0m P 1, 440, 000
BHORANEHE NEELZILSA=2T Ktz 138% %1650 £4.0m P 1, 240, 000
BHORANEHE NEELZILSA=T Ktz 138% %1650 &5.0m P 1,520, 000
BHORANEHE NEELZILSA=T Ktz 138% %1800 £4.0m P 1, 480, 000
BHORANEHE NEELZILSA=T Ktz 138% %1800 &5.0m P 1, 820, 000
BHORANEHE NEELZILSA=T Ktz 138% %2000 £4.0m P 1, 800, 000
BHORANEHE NEELZILSA=2T Kfiz 138% %2000 £&5.0m P 2,210, 000
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BORANESE NEAELIILFA=2T Kfiz 1.5%18% #%1600 &4.0m FS -
BORANESE NEAELILFA=2T Kfiz 1.5%18% #%1600 &5.0m FS -
BORANESE NEAELILFTA=2T Kfiz 1.5%18% %1650 &4.0m FS -
BORANESE NEAELZILFA=2T Kfiz 1.5%18% #%1650 &5.0m FS -
BORANESE NEELILFTA=2T Kfiz 1.5%18% #%1800 £&4.0m FS -
BORANESE NEAELILFA=2T Kfiz 1.5%18% #%1800 £&5.0m FS -
BORANESE NEAELILFA=2T Kfiz 1.5%8% %2000 £&4.0m FS -
BORANESE NEELZILFA=2T Kfiz 1.5%18% %2000 £&5.0m FS -
A NEHE NEELINFA=2T Kitz 218% 2400 £6.0m x ook
A NEHE NEELINFA=2T Kit; 218% 2450 FK6.0m x ook
A NEHE NEELINFA=2T Kit; 218% 2500 £6.0m x ook
A NEHE NEELINFA=2T Kit; 218% 2600 £6.0m x ook
oA NEHE NEELINFA=2T Kitz 258% 2700 £6.0m x ook
oA NEHE NEELINFA=2T Kitz 218% 2800 £6.0m x ook
oA NEHE NEELINFA=2T Kitz 218% 2900 £6.0m x ook
A NEHE NEELINFA=2T Kitz 258 21000 6. 0m x ook
A NEHE NEELINFA=2T Kitz 258 21100 £6.0m x ook
A NEHE NEELINFA=2T Kitz 258 %1200 £6.0m x ook
oA NEHE NEELINFA=2T Kitz 258 21350 6. 0m x ook
oA NEHE NEELINFA=2T Kitz 258 21500 6. 0m x ook
FOAAINEHE NEELINSA=VY Kfz 238% 121600 £4.0m & 1, 040, 000
FOAAINEHE NEELINSA=VY Kfz 238% 121600 £&5.0m & 1. 280, 000
FOAAINEHE NEELINSA=VY Kfz 238% 121650 £4.0m & 1,110, 000
FOAAINEHE NEELINSA=VY Kfz 238% 121650 £&5.0m & 1. 360, 000
FOAAINEHE NEELINSA=VY Kfz 238% 121800 £&4.0m & 1,290, 000
FOAAINEHE NEELINSA=VY Kfz 238% 121800 £5.0m & 1. 580, 000
FOAAINEHE NEELINSA=VY Kfz 238% 122000 £4.0m & 1, 590, 000
FOAAINEHE NEELINSA=VY Kz 218% %2000 £5.0m & 1, 950, 000




[ it EHBE ] SF3FE10R
8. B (BHEMH
Ul = f $ ﬁﬁ

% # ] Rt (M) "
BHORAINEHE NEELZILSA=VT Ktz 2.5f8% %1600 £4.0m ZN -
BHORANEHE NEELZILSA=T Ktz 2.5f8% %1600 &£5.0m ZN -
BHORAINEHE NEELZILSA=T Kitz 2.5f8% %1650 £4.0m ZN -
BHORANEHE NEELZILSA=T Kftz 2.5f8% %1650 &£5.0m EN -
BHORANEHE NEELZILSA=T Ktz 2.5f8% %1800 £4.0m EN -
BHORANEHE NEELZILSA=T Ktz 2.5f8% %1800 £&5.0m EN -
BHORANEHE NEELZILSA=T Ktz 2.5f8% %2000 £4.0m EN -
BHORANEHE NEELZILSA=T Kftz 2.5f8% %2000 £&5.0m ZN -
FOAANEBE NEELINLSA=VT Kitz 31EE &75 £4.0m X i
FOAANEBE NEELINLSA=VT Kitz 31&E 2100 &4.0m X i
FOAANEBE NEELINLSA=VT Kitz 31&E #2150  &5.0m X i
FOAANEBE NEELILSA=VT Kiiz 31E% #2200  E5.0m ZN ook
FOAANEBE NEELINLSA=VT Kitz 31EE #2250 R5.0m X i
FOAANEBE NEELINLSA=VT Kitz 31EE #2300  &6.0m X i
FOAANEBE NEELINLSA=VT Kitz 31EE #2350 &6.0m X i
FOAANEBE NEELINLSA=VT Kitz 31EE 2400 &6.0m X i
FOAANEBE NEELINLSA=VT Kitz 31EE 2450 &6.0m X i
FOAANEBE NEELINLSA=VT Kitz 31EE 2500 &6.0m X i
FOAANEBE NEELINLSA=VT Kitz 31E% 2600 £6.0m EN ook
FOAANEBE NEELINLSA=VT Kitz 31EE 2700 &6.0m X i
FOAANEBE NEELINLSA=VT Kitz 31E% 2800 FK6.0m EN ook
FOAANEBE NEELINLSA=VT Kitz 31EE 2900 &6.0m X i
FOAANEHE NEELINLSA=VT Kitz 31EE #1000 FK6.0m X i
FOAANEBE NEELINLSA=VT Kitz 31EE #1100 F£6.0m X i
FOAANEBE NEELINLSA=VT Kitz 31EE #1200 £6.0m X i
B A IEEHKE NEELINLFA=2T Kz 318% %1350 £6.0m & ko
FOAANEBE NEELINLSA=VT Kitz 31EE #1500 FK6.0m X i
BHORANEHE NEELZILSA=2T Kfiz 318% %1600 £&4.0m P 964, 000
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O ANEHRE NEELINSA=VT Kfiz 3%% 21600 £&5.0m E:S 1,180, 000
O ANEHRE NEELINSA=VT Kfiz 358%E 21650 £&4.0m E:S 1,020, 000
O ANEHRE NEELINSA=VT Kfiz 3%% 21650 £&5.0m E:S 1, 250, 000
O ANEHRE NEELINSA=VT Kfiz 3%8% 21800 £&4.0m E:S 1,190, 000
O ANERE NEELINSA=VT Kfiz 3%% 21800 £&5.0m E:S 1, 460, 000
O ANEHRE NEELINSA=VT Kfiz 3%% 22000 £4.0m E:S 1, 500, 000
O ANEHRE NEELINSA=VT Kfiz 3%% 22000 £&5.0m E:S 1, 830, 000
A NEHE NEELINFA=2T Kitz 3.5%% #1600 £4.0m x -
A NEHE NEELINFA=2T Kitz 3.5%% %1600 f&5.0m x -
A NEHE NEELINFA=2T Kitz 3.5%% %1650 £4.0m x -
A NEHE NEELINFA=2T Kitz 3.5%% %1650 f&5.0m x -
A NEHE NEELINFA=2T Kitz 3.5%% %1800 £4.0m x -
oA NEHE NEELINFA=2T Kitz 3.5%% %1800 f&5.0m x -
oA NEHE NEELINFA=2T Kitz 3.5%% #£2000 £4.0m x -
oA NEHE NEELINFA=2T Kitz 3.5%% #2000 f&5.0m x -
A NEHE NEELINFA=2T Kitz 4585 #2600 £6.0m x il
A NEHE NEELINFA=2T Kitz 4585 700 £6.0m x il
A NEHE NEELINFA=2T Kfiz 418% #2800 &6.0m FS bk
oA NEHE NEELINFA=2T Kfiz 418% #2900 K6.0m FS bk
oA NEHE NEELINFA=2T Kitz 4585 21000 6. 0m x il
A NEHE NEELINFA=2T Kfiz 418% #1100 K6.0m FS bk
A NEHE NEELINFA=2T Kfiz 418% #1200 £K6.0m FS bk
oA NEHE NEELINFA=2T Kitz 4585 21350 6. 0m x il
oA NEHE NEELINFA=2T Kfiz 41%8% #1500 6.0m FS bk
O ANEHRE NEELINSA=VT Kftz 458% 21600 £4.0m E:S 890, 000
O ANEHRE NEELINSA=VT Kftz 458% 21600 £&5.0m E:S 1, 090, 000
O ANERE NEELINSA=VT Kftz 418% 21650 £&4.0m E:S 954, 000
O ANEHRE NEELINSA=VT Kfz 438% 121650 £&5.0m E:S 1, 160, 000
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BHORAINEHE NEELZILSA=VT Ktz 418% %1800 £4.0m P 1, 120, 000
BHORANEHE NEELZILSA=T Ktz 438% %1800 £&5.0m P 1, 370, 000
BHORAINEHE NEELZILSA=T Ktz 438% %2000 £4.0m P 1, 350, 000
BHORANEHE NEELZILSA=T Ktz 438% %2000 £&5.0m P 1, 650, 000
BHORANEHE NEELZILSA=T Ktz 4.5%8%-DA_ 2600 £6.0m & sokok
BHORANEHE NEELZILSA=T Ktz 4.5%8%-DA_ #2700 £6.0m & sofok
BHORANEHE NEELZILSA=T Ktz 4.5%8%-DA_ #2800 £6.0m & sofok
BHORANEHE NEELZILSA=T Ktz 4.5%8%-DA_ #2900 £6.0m & sofok
BHORANEHE NEELZILSA=T KRz 4.5%E%-DA_ 21000 £6.0m & sofok
BHORANEHE NEELZILSA=2T KRz 4.5%8% DA #1100 £6.0m & sofok
BHORANEHE NEELZILSA=T KRz 4.5%8%-DA 21200 £6.0m & sofok
FOAANEBE NEELILSA=VT Kiiz 4.5%8% -DA_ %1350 £6.0m ZN ook
BHORANEHE NEELZILSA=2T KRz 4.5%8%-DA #1500 £6.0m & sokok
BHORANEHE NEELZILSA=T Kitz 4. 5% % -DA_ %1600 £4.0m P 787. 000
BHORANEHE NEELZILSA=T Kftz 4. 5% % -DA_ %1600 &5.0m P 958, 000
BHORANEHE NEELZILSA=T Kitz 4.5%8%-DA_ %1650 &4.0m P 840. 000
BHORANEHE NEELZILSA=T Kitz 4.5%8%-DA_#%1650 &5.0m P 1,020, 000
BHORANEHE NEELZILSA=T Kitz 4. 5%%-DA_#%1800 &4.0m P 996. 000
BHORANEHE NEELZILSA=T Kftz 4.5%%-DA_#%1800 &5.0m P 1,210, 000
BHORANEHE NEELZILSA=T Kitz 4. 5% % -DA %2000 £4.0m P 1, 200, 000
BHORANEHE NEELZILSA=T Kftz 4. 5% % -DA_ %2000 &5.0m P 1, 470, 000
FOAANEBE NEELINLSA=VT Kftz 53 & -DB %600 K6.0m X dokok
BHORANEHE NEELZILSA=2T Kftz 5%E%-DB #2700 £6.0m & sokok
B A IEEHKE NEELILSA=2T Kftz 5%E%-DB %800 &6.0m Z:N ok
BHORANEHE NEELZILSA=T Kftz 5%E%-DB #2900 £6.0m & sofok
BHORANEHE NEELZILSA=T Kftz 5%8%-DB 421000 f6.0m & sokok
BHORANEHE NEELZILSA=T Kftz 5%%-DB 21100 f£6.0m & sokok
BHORANEHE NEELZILSA=2T Kftz 5%E%-DB 421200 £6.0m & sokok
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BHORAINEHE NEELZILSA=VT Kftz 5%E%-DB 721350 f6.0m & sofok
BHORANEHE NEELZILSA=T Kftz 5%8%-DB 421500 f6.0m & ook
BHORAINEHE NEELZILSA=T Kfiz 538%-DB %1600 £&4.0m P 723. 000
BHORANEHE NEELZILSA=T Kfiz 538%-DB %1600 &5.0m P 879. 000
BHORANEHE NEELZILSA=T Kfiz 538%-DB %1650 £&4.0m P 773. 000
BHORANEHE NEELZILSA=T Kfiz 5#8%-DB %1650 £&5.0m PN 940. 000
BHORANEHE NEELZILSA=T Kfiz 5#8%-DB %1800 £&4.0m P 899. 000
BHORANEHE NEELZILSA=T Kfiz 5#8%-DB %1800 &5.0m P 1,090, 000
BHORANEHE NEELZILSA=T Kfiz 538%-DB %2000 £&4.0m P 1, 120, 000
BHORANEHE NEELZILSA=2T Kfiz 538%-DB #2000 £&5.0m P 1, 370, 000
FOAANEBE NEELINLSA=VT TH 118E &75 £4.0m X i
FOAANEBE NEELILSA=VT T 118% %100 K4.0m ZN ook
FOAANEBE NEELINLSA=VT TH 118E 150  &5.0m X i
FOAANEBE NEELINLSA=VT T 118E 2200  &5.0m X i
FOAANEBE NEELINLSA=VT TH 118E #2250 R5.0m X i
FOAANEBE NEELINLSA=VT TH 118E #2300  &6.0m X i
FOAANEBE NEELINLSA=VT TH 118E #2350 &6.0m X i
FOAANEBE NEELINLSA=VT T 118% £400  K6.0m ZN ook
FOAANEBE NEELINLSA=VT T 118% %450 K6.0m EN ook
FOAANEBE NEELINLSA=VT T 118% 500 K6.0m EN ook
FOAANEBE NEELINLSA=VT T 118% %600 K6.0m EN ook
FOAANEBE NEELINLSA=VT T 118% 700 K6.0m EN ook
FOAANEHE NEELINLSA=VT T 118% %800 K6.0m EN ook
FOAANEBE NEELINLSA=VT T 118% 900 K6.0m EN ook
B A INEEHKE NEELILSA=2T TH 138% %1000 £6.0m & sofok
FOAANEBE NEELINLSA=VT T 118% 1100 F£6.0m EN ook
B A ILEEHKE NEELILSA=2T TH 138% %1200 £6.0m & sokok
BHORANEHE NEELZILSA=2T TH 138% %1350 £6.0m & sokok
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A NEHE NEELINFA=2T TH 1EE 21500 6. 0m x il
FOBAINEHE NEELINSA=VY Th 138% 121600 £4.0m & 1,220, 000
FOBAINEHE NEELINSA=VT Th 138% 121600 £&5.0m & 1, 490, 000
FOAAINEHE NEELINSA=VY Th 138% 121650 £4.0m & 1, 280, 000
FOAAINEHE NEELINSA=VY Th 138% 121650 &5.0m & 1,570, 000
FOAAINEHE NEELINSA=VY Th 138% 121800 £4.0m & 1, 540, 000
FOAAINEHE NEELINSA=VY Th, 138% 121800 £&5.0m & 1, 890, 000
FOAAINEHE NEELINSA=VY Th 138% 122000 £4.0m & 1, 890, 000
FOAAINEHE NEELINSA=VY Th 138% 122000 £&5.0m & 2,310,000
BORANESE NEAELILFA=2T TH 1.5%18% %1600 &4.0m FS -
BORANESE NEAELIILFA=2T TH 1.5%18% #%1600 £&5.0m FS -
BORANESE NEAELILFA=2T TH 1.5%18% %1650 &4.0m FS -
BORANESE NEAELIILFA=2T TH 1.5%18% %1650 £&5.0m FS -
BORANESE NEAELZILFA=2T TH 1.5%8% #%1800 £&4.0m FS -
BORANESE NEAELILFA=2T TH 1.5%18% #%1800 £&5.0m FS -
BORANESE NEAELILFA=2T TH 1.5%18% %2000 £4.0m FS -
BORANESE NEAELILFA=2T TH 1.5%8% %2000 £&5.0m FS -
A NEHE NEELINFA=2T T 218%E 2400 £6.0m x il
oA NEHE NEELINFA=2T T 218%E 2450 FK6.0m x il
oA NEHE NEELINFA=2T T 218%E 2500 £6.0m x il
A NEHE NEELINFA=2T T 218%E 2600 £6.0m x il
A NEHE NEELINFA=2T T 218%E 2700 £6.0m x il
oA NEHE NEELINFA=2T T 218%E 2800 £6.0m x il
oA NEHE NEELINFA=2T T 218%E 2900 £6.0m x il
oA NEHE NEELINFA=2T T 218%E 21000 6. 0m x il
oA NEHE NEELINFA=2T T 218%E 21100 £6.0m x il
oA NEHE NEELINFA=2T T 218%E %1200 6. 0m x il
oA NEHE NEELINFA=2T TH 218% %1350 £6.0m FS bk
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A NEHE NEELINFA=2T T 218%E 21500 6. 0m x il
FOBAINEHE NEELINSA=VY Th 238% 121600 £4.0m & 1, 090, 000
FOBAINEHE NEELINSA=VT Th, 238% 121600 £&5.0m & 1, 330, 000
FOAAINEHE NEELINSA=VY Th 238% 121650 £4.0m & 1, 150, 000
FOAAINEHE NEELINSA=VY Th, 238% 121650 &5.0m & 1,410, 000
FOAAINEHE NEELINSA=VY Th, 238% 121800 £4.0m & 1, 340, 000
FOAAINEHE NEELINSA=VY Th, 238% 121800 £&5.0m & 1. 640, 000
FOAAINEHE NEELINSA=VY Th 238% 122000 £4.0m & 1, 670, 000
FOAAINEHE NEELINSA=VY Th, 238% 122000 £&5.0m PN 2,040, 000
BORANESE NEAELILFA=2T THs 2.518% %1600 &4.0m FS -
BORANESE NEAELIILFA=2T THs 2.5%18% %1600 £&5.0m FS -
BORANESE NEAELILFA=2T TH 2.518% %1650 &4.0m FS -
BORANESE NEAELIILFA=2T TH 2.5%18% %1650 £&5.0m FS -
BORANESE NEAELZILFA=2T THs 2.5%18% #%1800 F&4.0m FS -
BORANESE NEAELILFA=2T THs 2.5%18% #%1800 £&5.0m FS -
BORANESE NEAELILFA=2T THs 2.5%8% %2000 £&4.0m FS -
BORANESE NEAELILFA=2T THs 2.5%18% %2000 £&5.0m FS -
A NEHE NEELINFA=2T T 3EE 15 £4.0m x il
oA NEHE NEELINFA=2T T 3fEE 2100  F4.0m x il
oA NEHE NEELINFA=2T T 3EE 2150 R5.0m x il
A NEHE NEELINFA=2T T 3EE 2200 £5.0m x il
A NEHE NEELINFA=2T T 3EE 2250 F5.0m x il
oA NEHE NEELINFA=2T T 3fEE 2300 £6.0m x il
oA NEHE NEELINFA=2T T 3fEE 2350 6.0m x il
oA NEHE NEELINFA=2T T 3EE 2400 £6.0m x il
oA NEHE NEELINFA=2T T 3fEE 2450 FK6.0m x il
oA NEHE NEELINFA=2T T 3EE 2500 £6.0m x il
oA NEHE NEELINFA=2T TH 318% %600 £6.0m FS bk
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FOAANEBE NEELINLSA=VT T 31E% £700  FE6.0m ZN ook
FOAANEBE NEELILSA=VT TH 3EE #2800 &6.0m X Fook
FOAANEBE NEELINLSA=VT TH 3EE 2900 &6.0m X Fook
FOAANEBE NEELINLSA=VT TH 3EE #1000 F&6.0m X i
FOAANEBE NEELINLSA=VT TH 31EE #1100 F£6.0m X i
FOAANEBE NEELINLSA=VT TH 31EE #1200 £6.0m X i
FOAANEBE NEELINLSA=VT TH 31EE #1350 FK6.0m X i
B A IEEHKE NEELILSA=2T TH 318% %1500 £6.0m & ko
FOAANEBE NEELINLSA=VT TH 31EE #1600 £4.0m X i
B A ILEEHKE NEELILSIA=2T TH 318% %1600 £5.0m & ko
FOAANEBE NEELINLSA=VT TH 3EE #1650 F4.0m X i
FOAANEBE NEELILSA=VT TH 3EE #1650 F&5.0m X Fook
FOAANEBE NEELINLSA=VT TH 3EE #1800 &4.0m X i
FOAANEBE NEELINLSA=VT TH 3EE #1800 F&5.0m X i
FOAANEBE NEELINLSA=VT TH 31EE #2000 £4.0m X i
FOAANEBE NEELINLSA=VT TH 31EE #2000 F&5.0m X i
BHORANEHE NEELZILSA=T T# 3.5(8% %1600 £4.0m EN -
BHORANEHE NEELZILSA=T T# 3.5(8% %1600 &£5.0m ZN -
BHORANEHE NEELZILSA=T T# 3.5(8% %1650 £4.0m EN -
BHORANEHE NEELZILSA=T T# 3.5f8% %1650 &£5.0m EN -
BHORANEHE NEELZILSA=T T# 3.5(8% %1800 £4.0m EN -
BHORANEHE NEELZILSA=T T# 3.5f8% %1800 £5.0m EN -
BHORANEHE NEELZILSA=2T T# 3.5f8% %2000 £4.0m EN -
BHORANEHE NEELZILSA=T T# 3.5f8% %2000 £&5.0m EN -
FOAANEBE NEELINLSA=VT TH 41EE 2600 &6.0m X i
FOAANEBE NEELINLSA=VT T 45E% £700  FE6.0m EN ook
FOAANEBE NEELINLSA=VT TH 41EE #2800 &6.0m X i
FOAANEHE NEELINLSA=VT T 4% 2900  F£6.0m EN ook
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FOAANEBE NEELINLSA=VT T# 418% #£1000 £6.0m ZN ook
B A INEEHKE NEELINLSA=2T TH 418% %1100 £6.0m & ook
FOAANEBE NEELINLSA=VT T# 418% #1200 F£6.0m ZN ook
B A IEEHKE NEELINLFA=2T TH 418% %1350 £6.0m & sokok
FOAANEBE NEELINLSA=VT T# 418% £1500 F£6.0m EN ook
B A ILEEHKE NEELILSA=2T TH 418% %1600 £4.0m & sofok
FOAANEBE NEELINLSA=VT T# 418% #1600 F£5.0m EN ook
B A IEEHKE NEELILSA=2T TH 418% %1650 £4.0m & sofok
FOAANEBE NEELINLSA=VT T# 418% #£1650 F£5.0m ZN ook
FOAANEBE NEELINLSA=VT T# 418% 21800 F4.0m ZN ook
B BAILEEHKE NEELILSA=2T TH 418% %1800 K5.0m & sofok
FOAANEBE NEELILSA=VT T# 418% 22000 F4.0m ZN ook
B A IEEHKE NEELINLSFA=2T TH 418% %2000 £5.0m & sokok
FOAANEBE NEELINLSA=VT TH, 4.53%-DA %600 &6.0m X i
BHORANEHE NEELZILSA=T TH 4.5%8%-DA_ #2700 £6.0m & sofok
FOAANEBE NEELINLSA=VT TH, 4.53%-DA %800 6.0m X i
BHORANEHE NEELZILSA=T TH 4.5%8%-DA_ 2900 F£6.0m & sofok
FOAANEBE NEELINLSA=VT TH, 4.53%-DA %1000 +6.0m X i
BHORANEHE NEELZILSA=T TH 4.5%8%-DA 21100 £6.0m & sokok
FOAANEBE NEELINLSA=VT THs 4.5%%-DA_ 1£1200 £6.0m EN ook
FOAANEBE NEELINLSA=VT TH, 4.53%-DA %1350 {&6.0m X i
BHORANEHE NEELZILSA=T TH 4.5%E%-DA 21500 £6.0m & sofok
BHORANEHE NEELZILSA=2T TH 4.58%-DA %1600 &4 Om P 775. 000
BHORANEHE NEELZILSA=T TH 4.58%-DA_#%1600 5. 0m P 939. 000
BHORANEHE NEELZILSA=T TH 4.58%-DA %1650 &4 0m P 826. 000
BHORANEHE NEELZILSA=T TH 4.58%-DA_ #%1650 5. 0m P 1,000, 000
BHORANEHE NEELZILSA=T TH 4.58%-DA_ #%1800 F£4.0m PN 984, 000
BHORANEHE NEELZILSA=2T TH 4.5%E%-DA 21800 £&5.0m P 1, 190, 000
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FOBANEHE NEELINFA=0T TH 4. 5% -DA 22000 &4.0m PN 1,200, 000
FOBANEHE NEELINFA=0T TH 4. 5% -DA 22000 K5.0m PN 1. 460, 000
FOBANEHE NEELINFA=0T TH# 5% %-DB #£600 &6.0m x ok
FOBANEHE NEELINFA=0T TH# 5% %-DB #%£700  &6.0m x ook
FOBANEHE NEELINFA=0T TH# 5% %-DB #£800  &6.0m x ook
FOBANEHE NEELINFA=0T TH# 5% %-DB #£900  &6.0m x ok
FOBANEHRE NEELILSAZ2T THz 5% % -DB #1000 6. 0m S Hokk
FOBANEHRE NEELILSAZ2T THz 5%%E-DB #1100 &6.0m & Hohok
FOBANEHRE NEELILSAZ2T THz 5%%E-DB #1200 &6.0m & Hohok
FOBANEHE NEELINFA=Z0T TH# 5% %-DB #%£1350 fF&6.0m x ok
FOBANEHE NEELILSAZ2T THz 5%%E-DB #1500 &6.0m & Hohok
FOBANEHE NEELINFA=0T THz 5% & -DB #1600 &4.Om PN 713, 000
FOBANEHE NEELINFA=Z0T THz 5% % -DB #1600 &5.0m PN 862, 000
FOBANEHE NEELINFA=0T THz 5% % -DB #1650 &4.0m PN 761, 000
FOBANEHE NEELINFA=0T THz 5% % -DB #1650 &5.0m PN 922, 000
FOBANEHE NEELINFA=0T THz 5% % -DB #1800 &4.0m PN 893, 000
FOBANEHE NEELINFA=0T THz 5% % -DB #1800 &5.0m PN 1,080, 000
FOBANEHE NEELINFA=0T THz 5% % -DB #2000 &4.0m PN 1,130, 000
FOBANEHE NEELINFA=0T THz 5% % -DB #2000 &5.0m PN 1, 360, 000
FOBANEHE NEELINFA=0T Kitz 5%&-DB #£300 f&6.00m x ok
FOBANEHE NEELINFA=0T Kitz 5%&-DB #£350 f&6.00m x ok
FOBANEHE NEELINFA=0T Ktz 5%&-DB #£400 f&6.00m x ok
FOBANEHE NEELINFA=0T Ktz 5%&-DB #£450 f&6.00m x ook
FOBANEHE NEELINFA=0T Kitz 5%&-DB #£500 f&6.00m x ook
FOBANEHE NEELINFA=Z0T TH# 5%&-DB #£300 f&6.00m x ok
FOBANEHE NEELINFA=0T TH# 5%&-DB #£350 f&6.00m x ook
FOBANEHE NEELINFA=0T TH# 5%&-DB #£400 f&6.00m x ook
FOBANEHE NEELINFA=0T T# 5%&-DB #£450 f&6.00m x ook
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BORAIEHRE NAEILILSA=VYT T# 5% -DB %500 £&6.00m N Fokok
FORAIEHRE NAEILILSA=VYT T# DC  £1600 E4.0m x 697, 000
BORAIEHRE NAEILILSA=VYT T# DC  £1650 F4.0m x 747, 000
FORAIEHRE NAEILILSA=VYT T# DC %1800 E4.0m x 879, 000
BORAIEHRE NAEILILSA=VYT T# DC %2000 E4.0m x 1,090, 000
FORAIEHRE NAEILILSA=VYT T# DD %800 £&6.0m N Fokok
FORAIEHRE NAEILILSA=VYT T# DD %900 &6.0m N Fokok
BORAIEHRE NAEILILSA=VYT T# DD %1000 4&6.0m N Fokok
FORAIEHRE NAEILILSA=VYT T# DD %1100 &6.0m N Fokok
FORAIEHRE NAEILILSA=VYT T# DD %1200 &6.0m N Fokok
BORAIEHRE NAEILILSA=VYT T# DD %1350 &6.0m N Fokok
FORAIEHRE NAEILILSA=VYT T# DD %1500 4&6.0m N Fokok
FORAIEHRE NAEILILSA=VYT T# DD 1600 E4.0m x 656, 000
FORAIEHRE NAEILILSA=VYT T# DD #1650 E4.0m x 703, 000
FORAIEHRE NAEILILSA=VYT T# DD #1800 E4.0m x 832, 000
FORAIEHRE NAEILILSA=VYT T# DD  #£2000 E4.0m x 1,010, 000
FORAIEHRE NAEILILSA=VYT Ktz DD %800 £&6.0m N Fokok
BORAIEHRE NAEILILSA=VYT Ktz DD %900 &6.0m N Fokok
FORAIEHRE NAEILILSA=VYT Ktz DD %1000 4&6.0m N Fokok
FORAIEHRE NAEILILSA=VYT Ktz DD %1100 &6.0m N Fokok
FORAIEHRE NAEILILSA=VYT Ktz DD %1200 &6.0m N Fokok
FORAIEHRE NAEILILSA=VYT Ktz DD %1350 &6.0m N Fokok
FORAIEHRE NAEILILSA=VYT Ktz DD %1500 4&6.0m N Fokok
FORAIEHRE NAEILILSA=VYT Ktz DD #1600 E4.0m x 659, 000
FORAIEHRE NAEILILSA=VYT Ktz DD #1600 f5.0m x 796, 000
FORAIEHRE NAEILILSA=VYT Ktz DD #1650 E4.0m x 708, 000
BORAIEHRE NAEILILSA=VYT Ktz DD #1650 f&5.0m x 857, 000
FORAIEHRE NAEILILSA=VYT Ktz DD #1800 E4.0m x 829, 000
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FOBANEHE NEELINFA=0T Kitz DD #%1800 f5.0m PN 1,000, 000
FOBANEHE NEELINFA=0T Kitz DD #%2000 £4.0m PN 1,000, 000
FOBANEHE NEELINFA=0T Kitz DD #%2000 f&5.0m PN 1,200, 000

- EEEm (BHEH)

T2 A NGB ERESIM KRS iRERAIL b - T L8 275 # ook
T2 A NGB ERESIM KRz 1R8I b - L& 2100 # ook
T2 A NGB ERESIM KRz 1R8I b - L8 2150 # ook
T2 A NGB ERESIM KRz 1R8I b - L8 2200 # ook
T2 A NGB ERESIM KRz 1R8I b - L8 2250 # ook
T2 A NGB ERESIM KRz i8R AL b - L8 2300 # ook
T2 A NGB ERESIM KRz 1R8I b - L8 2350 # ook
T2 A NGB ERESIM KRz i8R AL b - I L& 2400 # ook
T2 A NGB ERESIM KRz 1R8I b - I L8 2450 # ook
T2 A NGB ERESIM KRz i8I b - L8 2500 # ook
T 24 NGB ERESIH KRz 1R8I b - L8 2600 # ook
T2 A NGB ERESIM KRz i8R AIL b - L& 2700 # ook
T2 A NGB ERESIM KRz 1R8I b - I L8 2800 # ook
T2 A NGB ERESIM KRz i8R AL b - L8 2900 # ook
T2 A NGB ERESIM KRz iR8GAIL b - I L8 21000 # ook
T 24 NGB ERESIH KRz i8I b - T L8 21100 # ook
T2 A NGB ERESIM KRz iR8GAIL b - I L8 21200 # ook
T2 A NGB ERESIM KRz 1R8I b - I L8 21350 # ook
T2 A NGB ERESIM KRz i8I b - I L8 21500 # ook
T2 A NGB ERESIM KRz 1R8I b - I L8 21600 # 156, 000
T 24 NGB ERESIH KRS8 AL b - I L8 21650 # 164, 000
T2 A NGB ERESIM KRz iR8GAIL b - I L8 21800 # 187, 000
T2 A NGB ERESIM KRz i8R IL b - L8 22000 # 225, 000

- ERE (BHREH)
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S5 8 4 L EBEEME ki 12600 60" MESHiE R & -
S5 8 4 L EBEEME ki 2700 60°  MESHiERE & -
S5 8 4 L EBEEME ki 12800 60°  MESHlE R & -
S5 8 4 L EBEEE ki 12000 60°  MESHsie R & -
S5 8 4 L EBEEE ki 21000 60°  MESRiiE R & -
S5 8 4 L EBEEME ki 21100 60°  MESRIERE & -
S5 8 4 L EBEEME ki 21200 60°  MESRIE R & -
S5 8 4 L EBEEME ki 21350 60°  MESRIE R & -
S5 8 4 L EBEEME Kis 21500 60° A mAIEELE & -
S5 8 4 L EBEEME Kis #2600 30°  NEA IR & -
S5 8 4 L EBEEME Kis 2700 30°  NEAMIERE & -
S5 8 4 L EBEEME Kis 800 30°  NEAMIERE & -
S5 8 4 L EBEEE Kis 2900 30°  NEAMIERE & -
S5 8 4 L EBEEE Kz 21000 30°  MEASRiEsE & -
S5 8 4 L EBEEME Kz 1100 30°  MEASRiiEsE & -
S5 8 4 L EBEEME Kz %1200 30°  MEASRiEEE & -
S5 8 4 L EBEEME Kz %1350 30°  MEASRiEEE & -
S5 8 4 L EBEEME Kz %1500 30°  MEASRiissE & -
5" 3 EEERE FIBE R £ 5 T 215 % -
5" 3 EEERE FIBE R £ 5 Th 2100 % -
5" 3SR FIBER A £ 5 Th 2150 % -
5" 3SR FIBER A £ 5 Th #2200 % -
5" 3 EEERE FIBE R £ 5 Th #2250 % -
BERKBEGERYIEBEEZILE (W) TSHRY—TJ #2200 £5.0m N -
BERKBEGERYIEELEZILE (WP) TSHRY—TJ 125 £5.0m N -
5 B E EEBRE SR (B8 A D) Kl 275 % -
5 B E EEBRE SR (B8 A D) ki #2100 % -
5 B E EEBRE SR (B8 A D) Kiz 2150 % -
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